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1. Write your name and circle your section number. - X = B s
2 Answer,in detail, every part in the space provided for it ,and circle your final result .Do not
mention just the answer. e h o Sw = 4.
3.The colored booklet is for scratch work and will not be corrected S, 4 Cxo = % .

I.The solution to a system of equat|0ns ving the form AX = B can be found by the matrix

multipication: X =[172 _ 6}[_6;) 4] L\fC'(,xPz\ S /X = A #.{ 6
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2.(5%) What is the solution ?
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11.{10%)The following matrix gives the transition probabllltles related to a niarket dominated by

two firms, A and B:
B 04 06
{02 038

Assume currently firm A has 65% of the market share.
1.(5%) Predict the market share of A in the next period.
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2:{16%) Assume the transition matrix remains stable. Find the expected eqwhbnum shares of
the two firms, if they exist.
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I1.(20%)Given the matrix A=|-4 0 -2
3 -2 -3

1.Calculate |4| by adding columns. Show your work.

[ - S -5 1
-Y C! Mz -4 0 — (O ‘6—'6)-(0-&0-}-1;‘)

3 -9 2| 3 -9 ~- 22 +8:9
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2. Use Cramer’s rule to solve just for x, in the system: A{ ) - 14]. Here A4is the
-7

iven matrix.
E!omwxs QQ_Q ,
il ,A’W‘{ ovnghtd o Gn:au

ard Ny RN S
5 -4 O =Yy Lt

[ 3 -9 ?\g

, .
Py X F %.:‘5 i M‘t‘"! - l-—-? \—j /

3. Find Just the 3 column of 4, the matnx of cofactors of A
wﬂa Lsw O z
‘= fl --{ uo 3) L_

I -3 = (o +4)=

4 Determine A° = Ax 4
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V.{10%) Find the 3x3 matrix B for which b, ={J:'Z ;2’1 o :;ii: jf
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V.(20%)The table below has been provided by the quality control department of a factory:

Product 1 (P\) | Product2 (P2) |Product3 (P;) | Tetall
(A)Acceptable 50 42 78 [0
(B)Unacceptable | 12 8 10 3o
Teta d 62 Se &% 200
One item is randomly taken from the batch. Find the following probabilities:
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